GRID GRID
REFER TO APPROVED REFER DETAIL 1 CV/?TCIFI EZ ?ERB[::GEOTQIIR.J% ALIGN
BARRIER TRANSITIONS ! 3mm MIN THICK P.T.FE. RAIL SUPPORT POST '
\ SHEET OR NYLON BRIDGE 200x100x6.0 RHS POST
! ta | ora WASHER & STEEL RAIL 6 PL CAP - TYPICAL
! | 3400 MAX. 3400 MAX. _ WASHER. FULLY WELDED E]SPOS}OEOGS.SO $:§.I§:%IB€§ $§|§UYT|T$20
TYPICAL TYPICAL .
50 GAP BETWEEN END OF —— _j r SET SCREWS AFTER GALVANISING.
BRIDGE RAILING AND FACE OF g y ] M S MIN THICK PTEE
TERMINAL BLOCK TYPICAL, \/— 1 1 1 _ : : : - mm TEE.
T T l T fi T T T lﬁ ANGLE SEAT SHEET OR NYLON FIX BRIDGE RAIL TO ANGLE SEAT
WASHER & STEEL WITH GRADE 4.6/S M20 HEX HEAD
DETAIL WASHER. SET SCREWS WITH P.TF.E. SHEET OR
4@ ¥ NYLON WASHER & STEEL WASHER.
-y_l NOT TO SCALE 40
z \ M24 HEX NUT AND FLAT WASHER.
| | ELEVATION al = \ \ /JACKING NUT
NOT T0 SCALE o I A
i B[ 60 MPa NON SHRINK GROUT.
X - DENOTES LOCATION OF 10mm NOMINAL GAP IN BRIDGE RAIL. K ‘ —
REFER DETAIL. POST g ‘ ‘ TYPE 1POST ANCHORAGE.
x x - DENOTES LOCATION OF EXPANSIGN JOINT IN BRIDGE RAIL. i\ﬁl
REFER DETAIL. g i TYPE 2 POST ANCHORAGE.
‘ 10 NOM. GAP
EJ - EXPANSION JOINT IN BRIDGE DECK. \ |
‘ BRIDGE RAIL WITH OPEN ENDS. CONCRETE KERB
\ 1 |
4/M20 GRADE 4.6/S HEX. HEAD SET TRESE EDOES AND THE RALS StALL BE 235 gg;LTTUTcg[;OgNJﬂ-INETSSE
T : : CONSTRUCTED TO GOOD LINE AND LEVEL TO
gggg gngB?.zag EIiAII:IgLES égg; ?ﬁéBEz?éaelgliAthEs SCREWS & P.T.F.E. SHEETS OR PROVIDE ATTRACTIVE APPEARANCE. TYPICAL SECTION EXTERNAL SURFACES.
= : 2 . ) NYLON WASHER & STEEL WASHER. FRAMEWORK SHOULD BE ADJUSTED TO
R TACK WELD TO ANGLE. A ‘ ‘ TACK WELD TO ANGLE. - ALLOW FOR DEFLECTIONS DUE TO DEAD NOT T0 SCALE
1 1 65 x 65 x 8 EA. Fn’ LOADS AFTER OR AS A RESULT OF CASTING.
R 65 x 65 x 8 EA. - FN—65x65x8EA.\! |
TYPICAL DETAIL - 10mm GAP
100 | 100 200 IzNe EL/E.LIEOLES /L pre—— 0 0 N
3mm CFW ! EXPANSIGN JOINT IN BRIDGE
290 290 50 100 \ THIS SIDE OF POST - TYPICAL
ANCHOR TYPE 1 ANCHOR TYPE 2 TYPICAL SIDE ELEVATION 1004 1100} | 30|
i émm CFW XX | BRIDGE RAIL WITH
S —— £ OPEN ENDS
w |
POST ANCHORAGE s q L bl L
NOT TG SCALE V| DR I SECTION /
* 3-10 PL SLEEVE - 6mm i FIX RAILS TO ANGLE SEAT WITH M20
CFW TG END OF RHS RAIL i GRADE 4.6/S HEX HEAD SET SCREWS
s | \ WITH PTFE SHEET OR NYLON WASHER
¢ NOTCH 6 CAP PLATE. 20 DIA HOLE - PLUG WELD \ & STEEL WASHER.
| POST ANGLES NOT SHOWN FOR CLARITY PRIOR TO GALVANISING
FEAPPLATE ‘ DA, 40 LONG SLOTTED NOTE
280 <X NUIE: TYPICAL DETAIL - RAIL EXPANSION JOINT
HOLES & PER ANGLE (TYP.) SECTION /BN SLEEVE TO BE A
b 85 90190 NOT T0 SCALE - NEAT. TIGHT FIT TO NOT TO SCALE
BN N r‘ | MATCHING RHS RAIL
O I , JI ' HS i 3I NOTES: 12. DECK CANTILEVER AND CONNECTION OF KERB TO IT
| AR T USE GRADE C350 RH.S. TO AS 1163 SHALL BE AT LEAST 15% STRONGER THAN THE
| Ty = 340 2. USE GRADE 250 STEEL TO AS 3678 & AS 3679 FOR OTHER STRENGTH REQUIRED TO DEVELOP THE DESIGN
- - | ; : 5 STEELWORK. UPPER-BOUND FULL TENSILE STRENGTH CAPACITY GF
a | o R L & 50 240 50 3. USE GRADE 8.8 HEX. HEAD BOLTS TO AS 1252 AND THE GUARDRAIL HOLD-DOWN BOLTS.
3 | | 3 Sr1s] W - GRADE 4.6/5 SET SCREWS. 13.  ALL DIMENSIONS ARE IN MILLIMETRES UNLESS NOTED
AN i s =S T © 4. WELDING SYMBOLS CONFORM TG AS 11013, OTHERWISE.
N | N 2y . ALLWELDS T0E GP CATEGORY UNLESS NOTED " TH RED AND WHITE “CLASS 1" RETROREFLECTIVE
AN 8 \ 22 | —3 QTHERWISE. SHEETING OR AS DOUBLE SIDED REFLECTORS IN
B ‘ = m & 1 6. HOT DIP GALVANISE BOLTS, SET SCREWS AND NUTS TQ L ecToRs
,,,,,,, T _S1 s 2.
1 - 28 PL BASE. g " £ 1210; WASHERS 10 S 1620, DELINEATORS ON RIGHT HAND SIDE ON ONE WAY TRAFFIC
! I / & = 7. ERECT POSTS VERTICALLY AND POSITION TO GIVE A
& 28 DIA. DRAIN HOLE ol 28 PLBASE. ? SMOOTH LINE OF RAILING. ROADS. RETROREFLECTIVE AREA SHALL BE 100cm?® AND
1 EACE ONLY ' 8. DIMENSIONS FOR RAIL LENGTHS GIVEN ON ELEVATION NO LESS THAN 60mm WIDE. DELINEATORS ARE TO BE
' 5/28 DIA. HOLES. 2 ARE BASED ON CENTRELINE OF RAIL. ALL LENGTHS OF BOLTED TO THE BLOCK OUT PIECES OR TO THE POSTS

SIDE ELEVATION

FRONT ELEVATION

TYPICAL RAIL POST DETAIL

NOT TO SCALE

SECTION

28 DIA. HOLE IN BASE
PLATE FOR DRAINAGE
DURING GALVANISING.

NOT TO SCALE\ - /
TYPICAL POST BASE

PLATE DETAIL

RAIL ARE TO BE CONFIRMED ON SITE BASED ON ACTUAL
POST LOCATIONS.
9. ALL POSTS AND RAILING TO BE HOT DIP GALVANISED
AFTER FABRICATION.
ELECTRODES FOR WELDING BASE PLATE TO BE E48XX.
ELECTRODES FOR GTHER WELDING TO BE E41XX.
BRIDGE RAILS MAY BE DRILLED AND TAPPED AFTER
GALVANISING. ALL OTHER STEELWORK GALVANISED
AFTER FABRICATION.

WHERE BLGCK OUTS ARE NOT USED. THE TOP OF THE
DELINEATOR SHALL BE 220mm ABGVE THE TOP OF THE
SAFETY BARRIER SO THAT THE APPROACHING BDRIVER
ALWAYS SEES RED ON HIS LEFT AND WHITE ON HIS RIGHT
HAND SIDE. PLACE AT EACH END AND AT 12m CENTRES.
REFER TO DIPL WEBSITE FOR APPROVED BARRIER
TRANSITIONS.
https://dipl.nt.gov.au/industry/technical-standards-

guidelines-and-specifications/read-safety-barriers

MINOR CHANGES

JAN 2024 | D.LLANO DIPL

ISSUED AS A STANDARD DRAWING

SEPT 2017J.LEESON EES/DIPL

No.

DESCRIPTION

DATE NAME DEPT/COMPANY

AMENDMENTS

WARNING

BEWARE OF UNDERGROUND SERVICES.

THE LOCATIONS OF UNDERGROUND SERVICES ARE
APPROXIMATE ONLY AND THEIR EXACT POSITION
SHOULD BE PROVEN ON SITE. NO GUARANTEE IS GIVEN
THAT ALL EXISTING SERVICES ARE SHOWN.

DRAWN CHECKED
J.LEESON S.HATZI
DATE  JUNE 2017 DATE  JUNE 2017
DESIGNED CHECKED
G.C

DATE  NOV 2004 DATE
DESIGN LEADER DESIGN DIRECTOR

S.HATZI S.JACKSON
DATE  1/09/2017 DATE  1/09/2017

STANDARD DRAWINGS
SAFETY BARRIERS

Northern Territory
Government

TYPICAL BRIDGE RAIL DETAILS

FILE No. ASSET No.

SHEET No.

SHEET
SIZE

Al

DRAWING No. AMEND.

CS-3202 1

1 o 1

RELEASED  23/01/2024

(S-3202__AMED_1


AutoCAD SHX Text
%%uELEVATION%%U

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
**

AutoCAD SHX Text
- DENOTES LOCATION OF 10mm NOMINAL GAP IN BRIDGE RAIL.   REFER DETAIL. - DENOTES LOCATION OF EXPANSION JOINT IN BRIDGE RAIL.   REFER DETAIL. - EXPANSION JOINT IN BRIDGE DECK.

AutoCAD SHX Text
**

AutoCAD SHX Text
EJ

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
3400 MAX.

AutoCAD SHX Text
EQ

AutoCAD SHX Text
EQ

AutoCAD SHX Text
3400 MAX.

AutoCAD SHX Text
TYPICAL

AutoCAD SHX Text
EJ

AutoCAD SHX Text
GRID

AutoCAD SHX Text
GRID

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
REFER TO APPROVED BARRIER TRANSITIONS

AutoCAD SHX Text
50 GAP BETWEEN END OF BRIDGE RAILING AND FACE OF TERMINAL BLOCK TYPICAL,

AutoCAD SHX Text
3mm MIN THICK P.T.F.E. SHEET OR NYLON WASHER & STEEL WASHER.

AutoCAD SHX Text
BRIDGE RAIL

AutoCAD SHX Text
3mm MIN THICK P.T.F.E. SHEET OR NYLON WASHER & STEEL WASHER.

AutoCAD SHX Text
ANGLE SEAT

AutoCAD SHX Text
DETAIL  NOT TO SCALE

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
RAIL SUPPORT POST 200x100x6.0 RHS POST 6 PL CAP - TYPICAL FULLY WELDED

AutoCAD SHX Text
1135

AutoCAD SHX Text
40

AutoCAD SHX Text
20 MIN

AutoCAD SHX Text
200

AutoCAD SHX Text
NO CONSTRUCTION JOINTS ARE PERMITTED ON THESE EXTERNAL SURFACES.

AutoCAD SHX Text
THESE EDGES AND THE RAILS SHALL BE CONSTRUCTED TO GOOD LINE AND LEVEL TO PROVIDE ATTRACTIVE APPEARANCE. FRAMEWORK SHOULD BE ADJUSTED TO ALLOW FOR DEFLECTIONS DUE TO DEAD LOADS AFTER OR AS A RESULT OF CASTING.

AutoCAD SHX Text
FACE OF BRIDGE RAIL TO ALIGN WITH FACE OF CONCRETE.

AutoCAD SHX Text
150x100x6.0 RHS.BRIDGE RAIL WITH OPEN ENDS. TAP HOLES TO SUIT M20 SET SCREWS AFTER GALVANISING.

AutoCAD SHX Text
FIX BRIDGE RAIL TO ANGLE SEAT WITH GRADE 4.6/S M20 HEX HEAD SET SCREWS WITH P.T.F.E. SHEET OR NYLON WASHER & STEEL WASHER.

AutoCAD SHX Text
M24 HEX NUT AND FLAT WASHER.

AutoCAD SHX Text
60 MPa NON SHRINK GROUT.

AutoCAD SHX Text
TYPE 1 POST ANCHORAGE.

AutoCAD SHX Text
TYPE 2 POST ANCHORAGE.

AutoCAD SHX Text
CONCRETE KERB

AutoCAD SHX Text
TYPICAL SECTION

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
JACKING NUT

AutoCAD SHX Text
REFER DETAIL 1

AutoCAD SHX Text
**

AutoCAD SHX Text
TYPICAL DETAIL - RAIL EXPANSION JOINT

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOTE:  SLEEVE TO BE A NEAT, TIGHT FIT TO MATCHING RHS RAIL

AutoCAD SHX Text
100

AutoCAD SHX Text
50

AutoCAD SHX Text
100

AutoCAD SHX Text
100

AutoCAD SHX Text
30

AutoCAD SHX Text
150

AutoCAD SHX Text
380

AutoCAD SHX Text
EXPANSION JOINT IN BRIDGE THIS SIDE OF POST - TYPICAL

AutoCAD SHX Text
FIX RAILS TO ANGLE SEAT WITH M20 GRADE 4.6/S HEX HEAD SET SCREWS WITH PTFE SHEET OR NYLON WASHER & STEEL WASHER.

AutoCAD SHX Text
3mm CFW

AutoCAD SHX Text
6mm CFW

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
BRIDGE RAIL WITH OPEN ENDS

AutoCAD SHX Text
20 DIA HOLE - PLUG WELD PRIOR TO GALVANISING 

AutoCAD SHX Text
3-10 PL SLEEVE - 6mm CFW TO END OF RHS RAIL

AutoCAD SHX Text
300

AutoCAD SHX Text
290

AutoCAD SHX Text
100

AutoCAD SHX Text
100

AutoCAD SHX Text
3/M24 GRADE 8.8/S GALV. BOLTS THRU 3/26 DIA. HOLES. TACK WELD TO ANGLE.

AutoCAD SHX Text
65 x 65 x 8 EA.

AutoCAD SHX Text
300

AutoCAD SHX Text
290

AutoCAD SHX Text
200

AutoCAD SHX Text
2/M24 GRADE 8.8/S GALV. BOLTS THRU 2/26 DIA. HOLES. TACK WELD TO ANGLE.

AutoCAD SHX Text
300

AutoCAD SHX Text
21

AutoCAD SHX Text
65 x 65 x 8 EA.

AutoCAD SHX Text
26 DIA. HOLES IN ANGLE

AutoCAD SHX Text
ANCHOR TYPE 1

AutoCAD SHX Text
ANCHOR TYPE 2

AutoCAD SHX Text
TYPICAL SIDE ELEVATION

AutoCAD SHX Text
POST ANCHORAGE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
65 x 65 x 8 EA.

AutoCAD SHX Text
C

AutoCAD SHX Text
L POST

AutoCAD SHX Text
SIDE ELEVATION

AutoCAD SHX Text
FRONT ELEVATION

AutoCAD SHX Text
TYPICAL RAIL POST DETAIL

AutoCAD SHX Text
85

AutoCAD SHX Text
635

AutoCAD SHX Text
28

AutoCAD SHX Text
6 CAP PLATE.

AutoCAD SHX Text
4

AutoCAD SHX Text
8

AutoCAD SHX Text
6

AutoCAD SHX Text
SP.

AutoCAD SHX Text
28 DIA. DRAIN HOLE, 1 FACE ONLY.

AutoCAD SHX Text
650

AutoCAD SHX Text
235

AutoCAD SHX Text
300

AutoCAD SHX Text
280

AutoCAD SHX Text
90

AutoCAD SHX Text
90

AutoCAD SHX Text
150 x 90 x 10 UA. SEAT 24 DIA. x 40 LONG SLOTTED HOLES 4 PER ANGLE (TYP.)

AutoCAD SHX Text
6

AutoCAD SHX Text
SP.

AutoCAD SHX Text
8

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
28 PL BASE.

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
B

AutoCAD SHX Text
-

AutoCAD SHX Text
A

AutoCAD SHX Text
-

AutoCAD SHX Text
%%uTYPICAL DETAIL - 10mm GAP%%U

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
C

AutoCAD SHX Text
L  POST

AutoCAD SHX Text
4/M20 GRADE 4.6/S HEX. HEAD SET SCREWS & P.T.F.E. SHEETS OR NYLON WASHER & STEEL WASHER.

AutoCAD SHX Text
BRIDGE RAIL WITH OPEN ENDS.

AutoCAD SHX Text
10 NOM. GAP

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
C

AutoCAD SHX Text
L 

AutoCAD SHX Text
A

AutoCAD SHX Text
-

AutoCAD SHX Text
TYPICAL POST BASE PLATE DETAIL

AutoCAD SHX Text
40

AutoCAD SHX Text
50

AutoCAD SHX Text
240

AutoCAD SHX Text
50

AutoCAD SHX Text
340

AutoCAD SHX Text
300

AutoCAD SHX Text
100

AutoCAD SHX Text
100

AutoCAD SHX Text
50

AutoCAD SHX Text
50

AutoCAD SHX Text
ANCHORAGE, POST & BASE PLATE.

AutoCAD SHX Text
28 PL BASE.

AutoCAD SHX Text
5/28 DIA. HOLES.

AutoCAD SHX Text
28 DIA. HOLE IN BASE PLATE FOR DRAINAGE DURING GALVANISING.

AutoCAD SHX Text
L  OF POST

AutoCAD SHX Text
C

AutoCAD SHX Text
25

AutoCAD SHX Text
25

AutoCAD SHX Text
NOTCH 6 CAP PLATE.

AutoCAD SHX Text
SECTION NOT TO SCALE

AutoCAD SHX Text
B

AutoCAD SHX Text
-

AutoCAD SHX Text
ANGLES NOT SHOWN FOR CLARITY

AutoCAD SHX Text
NOTES: 1. USE GRADE C350 R.H.S. TO AS 1163 USE GRADE C350 R.H.S. TO AS 1163 2. USE GRADE 250 STEEL TO AS 3678 & AS 3679 FOR OTHER USE GRADE 250 STEEL TO AS 3678 & AS 3679 FOR OTHER STEELWORK. 3. USE GRADE 8.8 HEX. HEAD BOLTS TO AS 1252 AND USE GRADE 8.8 HEX. HEAD BOLTS TO AS 1252 AND GRADE 4.6/S SET SCREWS. 4. WELDING SYMBOLS CONFORM TO AS 1101.3. WELDING SYMBOLS CONFORM TO AS 1101.3. 5. ALL WELDS TO BE GP CATEGORY UNLESS NOTED ALL WELDS TO BE GP CATEGORY UNLESS NOTED OTHERWISE. 6. HOT DIP GALVANISE BOLTS, SET SCREWS AND NUTS TO HOT DIP GALVANISE BOLTS, SET SCREWS AND NUTS TO AS 1214; WASHERS TO AS 1650. 7. ERECT POSTS VERTICALLY AND POSITION TO GIVE ERECT POSTS VERTICALLY AND POSITION TO GIVE SMOOTH LINE OF RAILING. 8. DIMENSIONS FOR RAIL LENGTHS GIVEN ON ELEVATION DIMENSIONS FOR RAIL LENGTHS GIVEN ON ELEVATION ARE BASED ON CENTRELINE OF RAIL. ALL LENGTHS OF RAIL ARE TO BE CONFIRMED ON SITE BASED ON ACTUAL  POST LOCATIONS. 9. ALL POSTS AND RAILING TO BE HOT DIP GALVANISED  ALL POSTS AND RAILING TO BE HOT DIP GALVANISED  AFTER FABRICATION. 10. ELECTRODES FOR WELDING BASE PLATE TO BE E48XX. ELECTRODES FOR WELDING BASE PLATE TO BE E48XX. ELECTRODES FOR OTHER WELDING TO BE E41XX. 11. BRIDGE RAILS MAY BE DRILLED AND TAPPED AFTER BRIDGE RAILS MAY BE DRILLED AND TAPPED AFTER GALVANISING. ALL OTHER STEELWORK GALVANISED AFTER FABRICATION. 12. DECK CANTILEVER AND CONNECTION OF KERB TO IT DECK CANTILEVER AND CONNECTION OF KERB TO IT SHALL BE AT LEAST 15% STRONGER THAN THE STRENGTH REQUIRED TO DEVELOP THE DESIGN UPPER-BOUND FULL TENSILE STRENGTH CAPACITY OF THE GUARDRAIL HOLD-DOWN BOLTS. 13. ALL DIMENSIONS ARE IN MILLIMETRES UNLESS NOTED ALL DIMENSIONS ARE IN MILLIMETRES UNLESS NOTED OTHERWISE. 14. SAFETY BARRIER DELINEATORS SHALL BE PROVIDED SAFETY BARRIER DELINEATORS SHALL BE PROVIDED WITH RED AND WHITE "CLASS 1A" RETROREFLECTIVE SHEETING OR AS DOUBLE SIDED REFLECTORS IN ACCORDANCE WITH AS/NZS1906.2. USE YELLOW DELINEATORS ON RIGHT HAND SIDE ON ONE WAY TRAFFIC ROADS. RETROREFLECTIVE AREA SHALL BE 100cm² AND NO LESS THAN 60mm WIDE. DELINEATORS ARE TO BE BOLTED TO THE BLOCK OUT PIECES OR TO THE POSTS WHERE BLOCK OUTS ARE NOT USED. THE TOP OF THE DELINEATOR SHALL BE 220mm ABOVE THE TOP OF THE SAFETY BARRIER SO THAT THE APPROACHING DRIVER ALWAYS SEES RED ON HIS LEFT AND WHITE ON HIS RIGHT HAND SIDE. PLACE AT EACH END AND AT 12m CENTRES. 15. REFER TO DIPL WEBSITE FOR APPROVED BARRIER REFER TO DIPL WEBSITE FOR APPROVED BARRIER TRANSITIONS.  

AutoCAD SHX Text
A1

AutoCAD SHX Text
DATE

AutoCAD SHX Text
SHEET

AutoCAD SHX Text
OF

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
AMEND.

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
SHEET No.

AutoCAD SHX Text
ASSET No.

AutoCAD SHX Text
FILE No.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DESIGN DIRECTOR

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
DESIGN LEADER

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DESIGNED

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
AMENDMENTS

AutoCAD SHX Text
No.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
DATE

AutoCAD SHX Text
NAME

AutoCAD SHX Text
DEPT/COMPANY

AutoCAD SHX Text
CS-3202_AMED_1	 RELEASED 	23/01/2024 RELEASED 	23/01/202423/01/2024

https://dipl.nt.gov.au/industry/technical-standards-guidelines-and-specifications/road-safety-barriers
AutoCAD SHX Text
https://dipl.nt.gov.au/industry/technical-standards- guidelines-and-specifications/road-safety-barriers


	Sheets and Views
	Layout1


